H & 0l & AHSH H M A
24T £ 2 3 BBSAXNME A
A RR==PIEIE
. SRZAHHPE(SLFUD)(BBZ4)
Ciol: DRZAXNAME 2Y(ZIIAXAME) (ool )
SA-3Y - SRA(SAH) - MRAY - BES Off &4 & A HnsZ
SiJ| = HIE] 9,605,000 5,044,000 4,561,000
= 1,082,968 908,087 174,881
Al 8,522,032 4,135,913 4,386,119
HUSAMARS(SYH D) (ZBSA) 9,561,624 5,034,000 4,507,624
< 1,082,968 908,087 174,881
Al 8,478,656 4,125,913 4,352,743
TTZANNVME 2Y(ZTSHXRLE) 9,561,624 5,034,000 4,527,624
< 1,082,968 908,087 174,881
Al 8,478,6% 4,125,913 4,352,743
TZZANNVHE 2 (SAZHD) 6,717,766 2,660,266 4,057,500
101 Q1218 136,5% 146,59 10,000
03 BRE(PI|H )22 R4 136,5% 146,59% 210,000
ZTIANANEH BRE 22X (2%) 136,59% 146,59% 10,000
== 72,000 87,876 ~15,876
-2t 3,360 5,040 1,680
-DEEE| 2,280 2,520 240
~CHRIXI R4 720 1,080 A360
- EIE N 480 720 A240
IS (L) 960 1,440 A480
OFESG (R MRHA) 480 720 A240
-Zn2R4Y 18,000 15,315 2,685
-gYaoAg 15,000 10,210 4,79
~Qizt B A 10,017 3,404 6,613
-824g 6,000 7,323 A1,323
~YEEIH| 5,859 8,788 A2,929
~HASYIIAS 1,440 2,160 AT20
201 LEr2 | 567,145 557,145 10,000
2 ZZ 2| 75,710 65,710 10,000
INEEEIEY 15,000 5,000 10,000
206 M2l 5,760,968 1,800,000 3,960,968
NIEET 5,760,968 1,800,000 3,960,968
Z23A AE A 5,760,968 1,800,000 3,960,968
307 BI20IH 236,532 140,000 9,532
05 QI2t9Ie3 236,532 140,000 9,532
S22 3 236,532 140,000 9,532
DZSANHE K (2X)(SARH D) (AL 2,843,858 2,373,734 470,124
= 1,082,968 908,087 174,881
Al 1,760,890 1,465,647 296,243
206 M2l 2,784,858 2,314,734 470,124
< 1,060,268 885,387 174,881
Al 1,724,590 1,429,347 295,243
NET 2,784,858 2,314,734 470,124
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